| Efficiency vs Dxy |
> 0.2
35 S : : : : : :

0 0.18p e P e e A
> - 5 5 5 5 5 5

YU L e N RS
© o : : i i : :

0014 e oo oo R
E C : : : : : :
©0.12 e 2 S A
|
008l i
006 R
] SR | 11|
0.02f+evevrce ALK YR

10 15 20
TP dxy (cm)

0955151

B :g llgl Yb(?é”dlveblul lUUUEVL
| Efficiency vs Dz | | = E tg
N 02 : :—v— C

4€§E %%%ié%ﬁ TELRSLTLIER3 1000evt

T e,
> r : : : : :
2016 i s oo S R
Q : : : :
[&]
[} C

0.12
5 {10 R S R 1

0.08
0.06[{{3 |- ,
0.04} u,* (IiNIE!
002_ |++w."h'**+ “ Tt

_I 11 1 IIIIIIIIIIIIIIr'I 11 1 | LI L ]
+

n
1.ug
I

*

Ratio

093520 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


